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No. 50 Z+ 100m FjkE R amE 1:11.83

L 11~12% >

BfL. K 4 i B 2E KK = 50m
1 2Z2fE KA FEEDY A N6 1/ 5 1:21.09 37.87 9k ( 0.67)
2 I Fis JSSHA¥F 1 1/ 6 1:23.16 38.62 8% ( 0.61)
3 AL H, JSSHA¥F /N5 1/ 7 1:24. 31 39.99 8%k ( 0.66)
4 AF WEHSC NG 1/ 3 1:25. 34 40.74 7% ( 0.75)
5 Uik 1HA A b= %E  HF1 1/ 2 1:26.50 40.73  T#Hk ( 0.67)
6 M e TS Sk NG 1/ 4 1:26.78 40.39  T#k ( 0.75)
7T FIE LG SPRBTZE D 1 1/ 8 1:27.54 41.36  6f% ( 0.73)
8 HFEONND WAEMSC NG 1/ 9 1:29.07 41.52 6% ( 0.78)
9 hnpE FEEE SCHz% NG 1/ 1 1:29.48 41.91  6f% ( 0.71)
10 &K 122 WHHS C 1 1/10 1:30. 04 42.32  6#% ( 0.81)

HAOBAKE: 6H12H 15:29



